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Part-II1
COMMUNICATIVE ENGLISH

Maximum : 60 Scores

( )

General Instructions to Candidates :

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

°
® Read questions carefully before answering.
[ ]

Certain sections of questions have choice. Follow the choice regulations.

(Question Nos. 1 —4) : Answer all questions. 4x1=4)
1.  Which one of the following normally gets a rising intonation ?

(@)  What a beautiful sight ! (b) Please lend me your book.

(c) CanlIhelp you? (d) My teacher is very patient.

2. Identify the type of verbal humour used in the following sentence :
You have hissed all my mystery lectures.
(@) Pun (b) Spoonerism
(c)  Malapropism (d) Parody

3. Pick out the word that contains /v/ :
(a)  fool (b) cool
(c) foot (d) clue

4.  What does the phrase ‘gone viral’ mean in the following sentence ?
Within hours the video had gone viral.
(a)  spread quickly (b) disappeared
(c) deleted (d) infected with virus
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(Question Nos. 5 —11) : Answer any 6 questions. 6x2=12)

5. Imagine that a student of your school bags the first prize in a district level sports event.
Post this news on your social media wall.
6.  Transcribe the following words using phonetic symbols :
(1) green
(i)  big
7.  Choose the odd one out :
(1) (a) rate (b) height (c) weight (d) late
(1) (a) /p/ (b) /k/ (c) // (d) i/
8.  Your friend does not like outdoor activities like running or walking. Write two
suggestions that will help him involve in such activities.
(You may use expressions like Why don’t you, if [ were you ... [ would)
9.  Write two arguments justifying your views for or against the given topic.
Social networking sites spoil students.
10. Your school intends to launch a cleanliness drive on its campus. Write a slogan for it.
11. Write two rules of netiquette for the social media.
(Question Nos. 12 — 16) : Answer any 4 questions. 4 x4=16)
12.  You are invited to deliver a speech to raise funds for people affected by flood. Draft the
script of your speech in a paragraph. (60 words)
13. The following is an e-mail written by a student to her teacher. Edit the underlined parts

of the mail using formal expressions.
Hi
I am X from XII B. I inform you that I will not attend class today because I am ill.

Do let me know the dates of practical examination. Thank you for your help.

See you
CX’
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14. Complete the following dialogue :
Man 1: Excuse me. Can you tell me how to get to the post office ?
Man2: DI'msorry..........
Man 1: Do you know where the bus station is ?
Man2: Busstation?..........
Man 1: How faris that ?
Man2: [It’sabout..........

Manl:

15. You are creating a blog for your class. Write a short paragraph describing your school

for your home page.

16. You are conducting a survey on life style diseases. Prepare a questionnaire with four

questions.

(Question Nos. 17 — 19) : Answer any 2 questions. 2x5=10)

17. Create a restaurant menu with the names of dishes, ingredients and price. Include titles

such as appetizers, main course, salads, soups and desserts.

18. Circle the discourse markers (linking words) in the following passage and identify their
functions :
(such as showing similarity, contrast, examples, adding information, concession)
cooking, like any other art, can be really challenging. However there are many
techniques that make it easy these days. For instance, tips for all kinds of dishes are
available in print. We also have immense collections of recipes on the internet. Even

though techniques are aplenty, one needs a lot of talent to excel in cooking.

19. You are a reporter giving a live coverage of the destruction caused by flood. Write the

script of your report focusing on a particular place. (80 words)
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(Question Nos. 20 — 23) : Answer any 3 questions. 3 x6=18)

20. You have been invited to inaugurate a sports event in your residential area. Draft the

script of your inaugural speech.

21. Diseases like Dengue, Chikungunya, Malaria, Diarrhoea, Typhoid and Cholera emerge

during the monsoon season.

Keeping our premises clean is very important to keep diseases away. Prepare a leaflet

in order to spread information and raise awareness of monsoon borne diseases.

22. We have seen many people actively taking part in the rescue operations during
calamities. Identify any such incident and prepare a feature article highlighting the

sacrifices they have made to help people get over difficult times. (100 words)

23. Read the following job advertisement and write an e-mail to apply for the job.
WANTED

Sub-Editor (English)

GGG News, Cochin
Responsibilities : Candidates will have to prepare and update news every day.
Qualification : Degree/Diploma in Journalism.
Salary : 20,000 — 40,000 p.m.

No experience required.
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General Instructions to Candidates :
® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

°
® Read questions carefully before answering.
[ ]

L Certain sections of questions have choice. Follow the choice regulations. )

(Question Nos. 1 — 6) : Fill in the blanks with suitable answers. Attempt any 5 of the

following. Each question carries 1 score. B x1=5)

1. Bama’s critically acclaimed work which won the Crossword Book Award in 2000 is

2. is a satirical poem on modern society where an individual is reduced to a

numerical factor.

3.  The term often used to relate to Kafka’s writings charecterised by senseless,

disorienting and menacing complexity is

4. is a short story, taken from the collection ‘Strange Forces’, which deals

with the attempt of the narrator to make an ape speak.

5. The mother in the short story ‘Doves on the Wing’ was worried about

6.  The poet, who wrote ‘The Waste Land’ is
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(Question Nos. 7 — 11) : Answer any 4 questions of the following in 2 or 3 sentences.

Each question carries 2 scores. 4x2=8)

7.  What is the ‘tidy waste’ that the poet is referring to in the poem ‘No More

Hiroshimas’ ?

8. What does the title ‘Doves on the Wing’ signify ?

9.  What was the initial reaction of the crowd to the note taker ? Why ?

10. What is the ridiculous spectacle mentioned in the travelogue, ‘In Memory of Azores’ ?

11. “Women’s work does not bring prestige or power.” Why does V. Geetha say so in her

essay, ‘Role Play’ ?

(Question Nos. 12 — 14) : Read the following extracts and answer any 2 of the following

questions. Each question carries 4 scores. 2x4=38)

12.  “I have never known you
But your blood flows in my veins
Your beautiful black blood that irrigates the fields
The blood of your sweat
The sweat of your work

The work of your slavery”

(a)  Explain the context. 2)
(b)  Identify the poem. 1)
(c)  Who is the poet ? (1)
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13.

14.

“I have looked upon those brilliant creatures
And now my heart is sore”
(@)  Why does the author call the swans as ‘brilliant creatures’ ?

(b)  Identify and explain the poetic device used here.

“Some forest diety, or diety of highway

and sky, has incognito set up residence — the godhead
invoked in a machine”

(a)  Why does the poet compare bicycle to a forest deity ?
(b)  What does the poet want to offer the forest diety ?

(Question Nos. 15 —22) : Answer any 7 of the following questions. Each question carries

5 scores. Each should not exceed 80 words. (7 x5=35)
15. The second act of ‘Pygmalion’ gives a detailed view of Higgin’s personality. Explain.
16. What is the role played by Kabaddi in the short story ‘Lt Aaron Eats his Hat’ ?
17. Write a paragraph on the situation that led to the transformation of Gregor Samsa into
a vermin.
18. Comment on the social criticism that V. Geetha raises in her essay ‘Role Play’.
19. English has become an indispensable language in India. Comment.
20. Write a paragraph on the rural background of the poem ‘Ecology’.
21. Bring out the element of humour in the story ‘Doves on the Wing’.
22. Write a paragraph on how the narrator’s obsession resulted in a tragedy in the life of

Y zur.
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(Question Nos. 23 — 26) : Answer any 3 of the following questions in not less than 200

words. Each question carries 8 scores. 3 x8=24)

23. How does the poem, ‘Night Rain’ by Sugatha Kumari bring out the feelings of a

woman ?

(Hints : Rain as a mad woman — the anguish mother — young poet as happy lover — a
rejected lover — kind and sad — pity and suppressed rage — sobbing and weeping alone —

use of poetic device and imagery)

24. Bring out the contrast between the Wild Swans and ageing poet as reflected in the poem

‘Wild Swans at Coole’.

(Hints : poet visits Coole park — description of the autumn evening — attention on swans

— symbol of youth — poet’s realization — use of poetic devices and imagery)

25. How does Bernard Shaw use ‘the Pygmalion Myth’ in the play ?

(Hints : Pygmalion myth — sculptor — giving life to statue — Galatea — live together —

Prof. Higgins — bet — transformation of Eliza — empowered woman)

26. Comment on the family relationship, as revealed in the novella ‘the Metamorphosis’.

(Hints : Background of Samsa family — Gregor Samsa — tiring job — transformation —
reaction of the family members — change in attitude — Gregor alienated — father’s

violence — ultimate death)
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PHYSICS
Maximum : 60 Scores
/ General Instructions to Candidates : \
® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® Electronic devices except non-programmable calculators are not allowed in the
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The given value of constants can be used wherever necessary.
Charge of proton = 1.6 x 10-19C
Mass of proton = 1.67 x 10727 kg

Answer any three questions from 1 to 4. Each carries one score. B x1=3)

1. A charged particle enters a uniform magnetic field at an angle of 40°. It’s path becomes

2. Figure shows the symbolic representation of

(i) OR gate (i) NAND gate
(ii1)) NOR gate (iv) NOT gate

3. Write the unit of mobility.

4.  Ifhis Planck’s constant, the momentum of a photon of wavelength 1A° is

() h (i) 107'%h
(i) 10'%h (iv) 10h
Answer any six questions from 5 to 11. Each carries two scores. (6x2=12)

5. (a) The ratio of electric field on the equatorial point and at the axial point at equal
distances from the centre of a short electric dipole is . 0}

(b) A closed surface encloses an electric dipole. What is the electric flux through the
surface ? 1)

6. A series LCR circuit connected to an ac source is shown below :

(a) Write an expression for impedance offered by this circuit. 1

(b) Under what condition this circuit is used for tuning radio ? 1
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9.

Which electromagnetic waves are used for the following purposes ?
(1) Diagnostic tool in medicine.

(i) Kill germs in water purifiers.

(ii1) Cellular phones.

(iv) In remote switches of household electronic systems. (4 x %)

Calculate the effective capacitance between a and b from the figure given below :

C, = C; =100 pF, C, = C, = 200 pF.

Write any two uses of polaroids.

10. The temperature dependence of resistivity of a material is shown below :

11.

(a) Identify the type of material. 0}

(b) Write the relation between resistivity and average collision time for electron. 1)

What is meant by half life of a radioactive substance ? Write its relation with decay
constant. 1+1)
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Answer any six questions from 12 to 18. Each carries three scores. (6 x3=18)

12. A spherical shell of radius R is uniformly charged with charge +q. By Gauss’s theorem,

find the electric field intensity at a point p.
(a) Outside the spherical shell and

(b) Inside the spherical shell. 2+1

13. The equipotential surface through a point is normal to the electric field at that point.

(a) What is meant by equipotential surface ? 1)
(b) What is the work done to move a charge on an equipotential surface ? 1)
(c) Draw the equipotential surfaces for a uniform electric field. 1)

14. The elements of earth’s magnetic field at a place are declination, dip and horizontal

intensity.

(a) A magnetic needle free to move in horizontal plane is shown below :

Which element of earth’s magnetic field is represented by 6 in the figure ? 1

(b) The vertical component of earth’s magnetic field at a given place is +/3 times its
horizontal component. If total intensity of earth’s magnetic field at the place is 0.4 G,

find the value of horizontal component of earth’s magnetic field. 2)
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15. A transformer is used to change the alternating voltage to a high or low value.

(a) What is the principle of a transformer ? 1

(b) A power transmission line feeds input power of 2300 V to a stepdown transformer
with its primary windings having 4000 turns. What should be the number of turns
in the secondary in order to get output power at 230 V ? 2)

16. Describe Young’s double slit experiment and derive an expression for the bandwidth of

the interference band.

17. The schematic diagram of an experimental setup to study the wave nature of electron is

shown below :

(a) Identify the experiment. 1

(b) Explain how this experiment verified the wave nature of electrons. 2)

18. The energy required to separate all the nucleons inside a nucleus is called binding

energy of the nucleus.
(a) Write an expression for binding energy in terms of mass defect. 1

(b) Draw the graph showing the variation of binding energy per nucleon as a function

of mass number. (1)

(c) Which nucleus possess maximum binding energy per nucleon ? 1
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19.

20.

21.

22.

Answer any three questions from 19 to 22. Each carries four scores. B x4=12)

Niels Bohr made certain modification in Rutherford’s model by adding the ideas of
quantum hypothesis.

(a) State Bohr’s second postulate of quantisation of angular momentum. 1

(b) Derive an expression for the radius and energy of the electron in the n™ orbit of
hydrogen atom. 3)

Two long co-axial solenoids of same length are shown below :

(a) Define mutual inductance of the pair of coils. 0}
(b) Derive an expression for mutual inductance of two co-axial solenoids. 2)
(¢) Write the dimension of mutual inductance. 1)

A small telescope has an objective lens of focal length 140 cm and an eyepiece of focal
length 5 cm. What is the magnifying power of the telescope for viewing distant objects
when

(a) the telescope is in normal adjustment. 2)

(b) the final image is formed at the least distance of distinct vision. 2)

In Amplitude Modulation, the amplitude of the carrier wave is varied in accordance
with the information signal.

(a) What is meant by modulation index ? 0}

(b) A message signal of frequency 10 kHz and peak value of 10 V used to modulate a
carrier of frequency 1 MHz and peak voltage of 20 V. Determine the modulation
index. 2)
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22.

19 2)®@3 22 2190WBS ¢a1034ST3 a@E®EIEN 3 ag)INOTIM DODMOOA)®) M.

4 capod aflow. B3x4=12)

HJ0eNEo MUIRLOTN TN BRYUOWEBUD B3)SlEaBT @AV EMIOB OYOBEANIBAL

¢200e{le8 20QeUd Alo)DI.

(@) comndlond @RPEWILINE AAAMWATIIOMW  H0OHOEMBECIVAHMAOW]  MITWa]S
QEMBOAGIDTID CalOTVICLIQ (1IN 99> @

(b) oo @RgEDIend n-onee™m B0dMiglend @Yool VAR
36MR)a ISl @IMBS TVAAID Yo @Yo ldBl6)H:. A3)

860 Tf8al)e BCO GRAHUANANBR OME CTLISIEMIVIAWIBHUB WIOY BosMlalaleean) :

(a) ‘o caleN@@1es aRaIE3 HABWHMBAV* A1) a 9. 1)

(b) ©me cHolens®ud ®allenss ays 1R HMARWBAV ®HeMe)a ISlan)MGEImss
aLAAIB Yo B lldBla0)B:. 2)

(€) @Y a1)@3 MHABWHMBAVIHG HOAWAMBHB af) 9)®). a

830} 6§10l OseIcTYIaflond sominglal arIBIIO] canddn@s 3)0o 140 cm 9o
Oafallafled Gande9®@3 B)oo 5 CM Do @YD), BIOOWBB AUTVIANOG HIEMYAN-
@M88 6SLICMIaload 20NTlan@low) al0I@ dene)alSlee).

(a)  OSEITNIEHa| EMIGAGE BRAVRAVOANGLIOD)EMIOUD ?2)
(b)  @RAIVIM (ITlMmilomio QAIYGMAIW HVYPaIBR aBQAe GH)OETIN B)ODITI3
o) flaclanemiog. 2

@Yo gL’ caw)eela MG HOCIWE @OoNTIHM G@RYWMI FHMBENIBEAHTD
amSlunmellmmaudla] aly@Pave AIEYEIMIAN).
(@)  CAOWIEEIHB DAV af)IND)EOH0MNE DEFUTIHNANEOD) ? §))
(b) 10 kHz epaiodiop 10 V aile meijamss 8o) eacaum” alumelom
1 MHz epaiyeml@p 20 V afle meionmss 00108 @ooto 9ale@oulla]
CAOW)CLIQ 62 109)AN). CAIA)CEIEH SDMBAHTV dheNe)a IS0 . ()

SY 24 11 P.T.O.



23.

24.

(c) The block diagram of a transmitter is shown below. Identify the elements labelled
Xand Y. 1)

Answer any three questions from 23 to 26. Each carries five scores. B x5=15)
Cyclotron is a device used to accelerate charged particles.

(a) With a suitable diagram briefly explain the working of a cyclotron and obtain an
expression for cyclotron frequency. 3)

(b) A cyclotron oscillator frequency is 10 MHz. What should be the operating
magnetic field for accelerating protons ? 2)

The experimental set up to find an unknown resistance using a metre bridge is shown
below :

(a) What is the working principle of a metre bridge ? 1

(b) If the balance point is found to be at 39.5 cm from the end A, the resistor S is of
12.5 Q. Determine the resistance R. Why are the connections between resistors in
a metre bridge made of thick copper strips ? 2+1

(c) If the galvanometer and cell are interchanged at the balance point of the bridge,
would the galvanometer show any current ? 1)
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(©)

80 (SomMaAIgAlOg CeJOBH W®Wo @IOY &»IaMlafldlasam). a@l@d X, Y
o) ENIOBNBUB af)ITNOM aV)a fla flaeyam) ? @

23 )@@ 26 eSS ¢210BIBEIG3 aBO@BIEN 3 af)ANOTIM DOMOHALI®)D>.

5 capod all@o. (B x5=15)
23. 21032RBY HEMGHDOS ®|6Mo  HaIGMDIM  DalCIUIENMN  Oald:EmMAdsm’
am«ucs%q;ocscsosrr&
(a) @@«u@goetsosmk)c@ afll@o QIEa] «;ro«rﬂsmg (1IB@MMo  AflVOBRIBNBHW)o
DOAVEHOE(SI6N @RYQUYOII Sere)allslemm@imss LAOIB Jo
0)ail0l86)3)o 6)a1Q))d. 3)

(b)

80} OOIVEHOESIM  soavlerigolod  @alyeml 10 MHz  @rayam,.
G(n10GZO6MBHUBAS @IO6Mo  (1130Mo a1 HOTI mmemzsﬂmg ONQU®

ag)a ? @)

24. a0} ‘dlgd i’ 9a1coUrla] GREADIMAIW B0} (ITIECOIWo KNl llsSlanan-
GIMBH 2 IBlBH6M TVANWINABTION o l(@o @69 OBHIS)TMIBIBIM)

(a)
(b)

(c)
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39.5 cm @RGOLIVWIGIMBIGE R af)am (aI@leoowo dinelailSlon)d. aAlgd
Enilawedloel  HIMAUMB  AUOBHB0V]  HFDHISIVW  EH0a|@  AIWO)HUD

DalCWIUBNMODANEB06NE ? 2+1)
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25. The circuit used to change alternating voltage to direct voltage is called rectifier.

(a) With a neat diagram, explain the working of a full wave rectifier having two
diodes. 3)

(b) What is the output frequency of a full wave rectifier if the input frequency is
50Hz? 1)

(c) Draw the output waveform across the load resistance connected in the full wave

rectifier circuit. 1)

26. A ray of light parallel to the principal axis of a spherical mirror falls at a point M as

shown in the figure below :

(a) Identify the type of mirror used in the diagram. 1
(b) By drawing a suitable ray diagram, obtain the mirror equation. A3
(c) If the mirror is immersed in water, its focal length . 1

(increases/decreases/remain the same)
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25.  @yudgdemdlory calowdeseflom A@Og CAINUBESEENMM TVBDHHSIOM HOGlanWAd
af)aM) alO@IaN).
(a) @M AWEWIAES B30) ‘aMUBEAIAT HOFHIANWAl'HF W0 Al (IAIBGDMo
alvoBR00e)D . 3
(b) 80} an)Bealal ®0glan@dlOd enadalg @GRHAINE®] 50 Hz @resmesl@d 8vgals
@RYAUOI] ag)(@ ? 6))
() 80) an)BEAIAl HOZIN®AB TVBBHRSIOG CLIDAW (IBICEOWTTTHIGI B)alda]S)AM
B3501)5 ®OoNEIBUY QIO . @)

26. 2@y G@RSHUOTIM  TLAOMWOAIWV] AU  (AIBHOUND  HlEMEBUB B0} CUISIW
B8Ba|emME®I@3 M ag)an mila3)0ll@3 al@laeam ail@o @619 &oemlajldlaemm, :

(@) RO ®OOTENSS BBaleMo BRHEM al(@OMIE3 BHoelafldlenan@ ? §))
(b)  ERPMEWIRINOV WU RalIEIUTa] BBa oM AVAIM: o ®)alld:@lH6)M:. A3)
(¢) BABajeMo HAISBODIE3 2)601310E1H9)EMI0UB ERGIOHAF CaNIBH@3 B)00 . (@)

(@530} / 300N} / Qi@ PAVeS)AIE))
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Answer all questions from 1 to 7. Each carries 1 score. (Tx1=17)

1.  The monomeric unit of natural rubber is
2. The weakest reducing agent among the hydrides of group 15 elements is

3. The reaction in which an amide is converted into a primary amine by the action of Br,

and alcoholic NaOH is known as

- . . . 2— .1
4. MnO, and are formed by the disproportionation of MnO, in acidic

medium.

5. In a solution of components ‘A’ and ‘B’, at molecular level, A — B interactions are
weaker than those between A — A or B — B interactions. Then the type of deviation

shown by this solution is called

6. Identify the co-ordination compound which can exhibit linkage isomerism, among the
following :

(a) [Pt(NH;) Ch]
(b)  [Co(NH;) (SO,)]Br
(¢) [Co(NH;) (NO)ICh,

(d) [Cr(NH;) ][CoFg]

7.  For the reaction, 2N0(g) + 02(g) e 2N02(g), the rate law is given as,
Rate = k[NO]2 [O,]. The order of the reaction with respect to O, is
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1 ;)@@ 7 A190W)SH af)LI0 GaldIBLEBIBAEN)0 DCMONAY)®)H. 1 capId alleo.
Tx1=17)

I (aayolsom omdland ecaocsmond @Ry6m.

2. 15-00 )a] MEISHEBBOS 6606 ALWIHSIGE aBQQlle B)3MILIN0® TleIgl@ 0l

@RY6.

3. czce;mom%mg@go @RY@HNCa008ld, NaOH OB®)o (IQUBBMManLIN0W] 630) GREOAWD,

06120l @RAIN @YW MM POV IAIBGINMo af)aM CaldleIol@ea]s)am).

2— o —
4. @ 20wWieBIed MnO ,  Alave@1d¢a [osreMan®) allew@aod)emiod MnO , 9o

9o £IEleNaM).

5. ‘A’, ‘B’ agariaes enemlalad, @@o@omelomlad, A — B emo@oamno
nieleonB A — A, B — B mIeIsnesanoid 6)3meindsm. @GReBeOMeQEIG3 M

210 (@ IdSlaflenan aly@loomecm ag)m) aflglenoo.

6. anales mellolgesaidicd elese 9ag)eroaadiavo (IdSlaflaean DalTLoEWIRD

Mo@)BB0 (GHIBIAWIEMaHB TVo@IBM0) AGODOANOIBTND :

(a) [Pt(NH;) Ch]
(b) [Co(NH;) (SO,)]Br
(¢) [Co(NH;) (NO,)ICL

(d) [Cr(NH3) ]J[CoFg]

7. 2NO(g) + 0,(g) —— 2NO,(g) oM OMV(ICIBTMOIOM) Mloss aloao,
mlogs = k[NO]Z[OZ] af)aMIEM. DD AV IAIRGMEDNOMG BOBWA  af)aNE®Y

SB0&lEROM @RSINVOOMA0AS 2 |0STIHOG3 @RYeM.
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Answer any ten questions from 8 to 20. Each carries 2 scores. (10 x2=20)

8.  Write the chemical equation representing Reimer-Tiemann reaction.

9.  What is reverse osmosis ? Write any one of its applications.

10. Identify the products and give the name of the following reaction :

conc. NaOH
— 5 Products

A

11. Explain Haloform reaction.

12.  What is meant by step growth polymerisation ? Give an example.

13.  An element crystallizes in F.C.C. manner. What is the length of a side of the unit cell, if

the atomic radius of the element is 0.144 nm ?

14.  Draw the structure of H;PO, and account for its reducing character.

15. 2-Bromobutane is optically active. Explain the stereo-chemical aspect of Sy! reaction

of 2-Bromobutane with OH ions.
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10.

11.

12.

13.

14.

15.

8 @3 20 21900WBS ¢21083BEIG8 aBE®ERIENe 10 af)INATIM DOMOOALI®)D>.

2 capod afloes. (10 x 2 =20)

Alad-Slaad @IV(EIAIBTHMEOTD (A IGIMIUWlBHA1H00M EIAVAVAAIID: o af)PIDE:.

af)am06M dlealsay somicaoadlay” ? SD@NOM BO@BIENC B0} (210D DalEWOU0

) 9} ).

aljaies Meldldlanan EOaVEIAGENMOTIOL! DOJANEBUD  ABOEOOBIHWAN)o,

V(BN O CalHOHAMAN o af) PO

conc. NaOH
—————> 9B|aMEBU3
A

‘a00GLI0GAN6" AOMV(AIAIBBMMo af) N AlUdBROLN)D.

OQUal GUIAD  CaldFOHNHHOCTVAU  af)MMIOGHITEAGNAILNANODID 7 630)

933a006Mo m%lgoe;

830) Meldo F.C.C. dloll@d (@lauellaclansa|siam). v aeidomlond @oeqoails

@)oo 0.144 nm @RWIE3, GP@IOHM WY HaLEeM] B0) AlVEIOM AflBo ag)(@ ?

H;PO, ®@0@@)9s *e1sM al0a] @R@IH Mleedglaosm quigdaIaalm’ al30macw

>006IMo QU YBHHANIHE) ).

$300iglao@3 @RRIOI® DBV B0} TVOWAMAGN  2-GENIOEAININOFW. gD

Mo@emal}e, OH @rewosmi@om)es Sy! iaidammaomlen quldlewondalonds

0eBUd allvodleolee)d.
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16. Briefly explain the different types of emulsions and give example for each.

17. Give the structural formula and [UPAC name of the product formed by the reaction of
propanone with CH;MgBr in dry ether, followed by hydrolysis.

18. Examine the graph given below. Identify the integrated rate equation and the order of

the reaction corresponding to it.

k =~ Slope

19. How is a primary amine distinguished from a secondary amine using a chemical test ?

20. Predict the products obtained by the reaction of 2-methoxy-2-methylpropane with HI.

Answer any seven questions from 21 to 29. Each carries 3 scores. (7x3=21)

21. Explain the terms, Zeta potential, electro-phoresis and electro-osmosis.

22. The rate constant of a reaction at 293 K is 1.7 x 10° s™\. When the temperature is
increased by 20 K, the rate constant is increased to 2.57 x 10 s7'. Calculate E,and A
of the reaction.
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16.

17.

18.

19.

20.

21.

22.

aflaflw @0 af)2WBHMBOBa|Fl 21)0)88] allaIdlee)d. B0eEaMIM)e BBIANMEMo

MEND.

Clalda]emoad @@® VABa|eadl® VINd @vwinceiled CH;MgBr agam
TMVo@MANAOW]  (a10IBBDN2CWdaHo, Rel allegQauemMTTIM AlleWwAISHEMIIUB

eIEl99)M e|maileng ceism®ie IUPAC monalje Mend.

21)0I6S AEafla))88 (N9ah al@leuddWla, BR® EIGIMIWOMo §alQMN TVLAGHEN®
Mlods) VARG Yo (DMWEUNGW WOEH) TVAQG o) ABO@AN)o, BRGMTVEISH)AM
V(2 10IBTMOTHE BOBAWA af)(@OVWAN]o af) 9} ®).

k=—al0@lar

O VAo

0610l @edld, erveeddl @eAld o)A B0} EXAV ~lGlEVIWMIL)HS

a)enem cAGIdle|0lwo ?

2-m1@@ooe;«o1-2-m°laa@<686)(moa%|@)?ra, HI @@o@@)200f (1@ (@101@0rol$e)emioe)-

ENBO)MN DL|AMNEIBUB (a10la (186

21 )@@ 29 190W)BS ¢2103§SIG8 aBo@EIENC 7 af)aNOTIM  DTNODA)®)D>.
3 ¢apod aflos. (7x3=21)
MIQ0  ©a105MBeHY@3, DRI ESI-CaNI0MVIAY,  FHRIGESI-BOTVERNVIaV ag)avial

QflvoBRHN)B.

293 K ®oaidfleicdil@d  630) oocmwm@mm@roﬂmg mloasy cmd@oas)asroﬂ@c@
melp 1.7 x 10° s @R@)am). ®oaiailel 20 K aldalla{leeemiodd mloss rurleomo
257 x 10° 5™ agam merosieainsacmm). sy eoavalademmasien E, A agarial

DINANIBN) .
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23.

24.

25.

26.

27.

28.

29.

Identify A, B and C in the following sequence of reactions :

A

+
S A H;0 B Bry/red P S

— +
CH,COOH + NH, 7 CH,COO NH, A

C

Briefly explain different types of neurologically active drugs and give example for each

type.

Write any three applications of d— and f— block elements.

Give the open chain and ring structures of glucose and account for the existence of

glucose in two anomeric forms.

A 5% solution (by mass) of cane sugar (C,,H,,0,,) in water has a freezing point of
271 K. Calculate the freezing point of 5% (by mass) solution of glucose (C.H,,0) in

water. Freezing point of pure water is 273.15 K.

Explain the steps involved in the vapour phase refining of Ni and Zr.

What are interhalogen compounds ? Which interhalogen compound is used to fluorinate

Uranium ? How is it prepared ?
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23.

24.

25.

26.

27.

28.

29.

21)010S €alBOWIgIE8 0MVEIAIBO®M ¢YIMIXIas A, B, C agarial @idleldl-

DETHOYND

A H3O+ . B Bry/red P

> A
A

C

— +
CH,COOH + NH; > CH,;COO NH,

MOl Q132001200] (101BEBEMM allallw ®oe Ae)MBOSBa ]l 2 1)0)0s0 allaidloe)s.

630¢00 AlleOVATIMo PBOAODEMo MEI)M:.

d— eeno9s), - GMIoBs MEIHEBRIOS aBO@BIEN0 MAN (1I0CRISB> DalCWONEBUD

) 9} ).

PIEHHOTV DDMI(WOS 6300 |3 62103, QILIW CLISMBUB AIOW), PICANITV O6NE

@RYEMINHAGD; 0)nletns] @3 MIEIMITHNMMNOEAOB066MBaT AlVdBAIBN ).

5% (by mass) &almild atemiavoo (C,,H,,0,,) ®eiomlad ey enomlees
0@ 271 K @em. «@lad 5% (by mass) @eaeoav’ (CiH,,0,) =eiomiod
eIQa )} SIFAN LIVTTWIOS QICIB:0 HEMENIDND. Y)RLERLITTINNY OV 273.15

K @rgyayam).

Ni, Zr agavlai@es moayoe! w)ellaoamodiand aflalw ceigendd  aflvodl-

OB >.

a6 DABBAOOLIRM  AVoWBMEBUD ? WECOMIVWHOTD oQIFIEM  HalQond

Dal1eOUlan)aM EDAZBA00LIR TVo@)BBo AR ? GRD af)(n 000 W@enilvedo ?
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30.

31.

32.

33.

Answer any three questions from 30 to 33. Each carries 4 scores. B x4=12)
How can the following conversions be effected ?
(i) Ethanol —— Fluoroethane 2)

(i1)) But-1-ene—— But-2-ene 2)

Diagrammatically represent H, — O, fuel cell and write the half cell reactions taking

place in this cell.

What are point defects ? Explain the non-stoichiometric point defects in ionic crystals.

(i) With the help of a diagram, give the splitting of d-orbitals of Mn2* ion in an
octahedral crystal field. 2)

(1)) On the basis of crystal field theory, explain why [Mn(H20)6]2+ contains five

unpaired electrons while [Mn(CN)6]4_ contains only one unpaired electron. 2)
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30.

31.

32.

33.

30 2)@@3 33 AEOWBS ¢21034BSG3 aBO@EILNC 3 af)ANOTIM DTNOOA)®)D>.

4 capod aflow. (B x4=12)
2SS G21AAIGBS aIGlAURBIHMETBUB ag)eIBOM TLIWIAIBNOAAT) Af)PIE)D> ?
(i)  a)®EMIB— aN)ENNVOHVB 2)

(il) enuyg-1-e0VMW—> 6NUYS-2-6DDB (#))

H, — 0, anga1@3 &aveflom @ITIawlaaleenam all@oe a1o@)d. 0D &ILeflad Msanm

@RAEL HAVE3 PIAV(AINIRBINIMEIBUD af) VYD)

“Ga10flad AWla OBHUB’ af)IMOGRIAD ? GREWIETID (HITVENMDSIM3 HETE)OI)IN GMIETD-

csggo&»“a;’lcs@omm(sfloe; ((oomcmwm’lq»%om) csmomﬂog}' mﬂnmo%;goe)cfa aflvodld@lee)d.

() 8oadlwmd HIQuE3 adledalas, Mn?" @pecosMiand d-e0@milgena®:u3ae)-
N0 ElTB9@3 830} 2 NGO TVaOOVWBNOG3 QA YBDAOLN)D>. 2)

(i1) [Mn(H2O)6]2+a58 RO @RI FDRIGESITMDGBIE.  af)aINIG3
[Mn(CN)6]4_ @ CEROUWILPOD B0} FDRIGESIINE A(MEA OBHB). HGIOG H06Mo

(HII@3 afladaw milevomm@dileng @rslrunomaIes aflvddlaolas)s. 2)
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PART - A

BOTANY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
Answer all the questions from 1 to 3. Each carries 1 score. B x1=3)

1.  What is the function of Restriction Endonuclease in recombinant DNA technology ?
(a) Link together fragments of DNA (b) Make millions of copies of DNA

(c) Cut DNA into many fragments. (d) Separate fragments of DNA

2. The Government of India has introduced the concept of , S0 as to work
closely with the local communities for protecting and managing forests.

3. Which among the following is not a greenhouse gas ?
(a N,O (b) Methane

(c) Carbon dioxide (d) Ozone

Answer any 9 questions from 4 to 14. Each carries 2 scores.
9%x2=18)

4.  Many countries encourage the cultivation of Genetically Modified Crops (G. M. Plants).
Write any two advantages of GM plants.

5. Match the columns (A) and (B) :

(A) (B)
(1) Mutualism (@)  An orchid growing on a tree trunk
(i)  Predation (b)  Gauss’s Exclusion Principle

(i11)) Commensalism | (c) Biological control
(iv)  Competition (d)  Derives nutrition from the host organism

(e) Mycorrhizae
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PART - A
BOTANY
(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes

1 2)®@3 3 AIPOW)BG af)LI0 Gal0BIBRBAEN)> YOMOOAY)®)H. 1 capd all®o.
Bx1=3)
1. dlepomilmad” DNA avoea@ilaalaialad oqvsleuad agadecawo mydglecoaiiont

WA2Ro af)aNIEM ?

(a) DNA @attememeg cwodlaflosyam,.

(b) DNA-©)6S LIgHIHEMAFNM Cha fl DMEH6)aM).
(c) DNA-0@ &HaHemensoos] maclao)am,.

(d) DNA &aHememnes cal@ailalea)am).

2. QIMEBGIOS TVoRSHUMATM @e3udlo)es auedlal al@oglomoe H0alodedad snam O
nalemeand ®)Se9alsg aleL@Ioam’

3. 999 ®@aMIdlanmMAIDI@E a0BIDUW R0 Q@0 GREOTIHED@IEM ?
(@ N,O (b) dlennd
() HOBNIND HOAWEBIBHHONHAVLAL (d) e0ecavoed

4 M®@3 14 A1600WBS G213 EBSEIG3 WMo aGa®EsIENe 9 G21033BURGS DTMO-
OA)®)h. 2 ¢apIAQ afl®o. 9 x2=18)

4. 20O 200 AOEWQ alSHBOS DUl WIS MIREBURB IOVl ]l-
SO)ANPENE. GROINVo TLAVIEBBBINS aBO@ELIENo QNS GAMBUB af)9)®)d>.

5. af), nil 6386803 GaldoalS] Gal@B9)D

af) onil
(1) 2a\alellave (a) &0} 20T AUSOIAN BIBBSAUW ALAVYO
(VEAN2aIBIBI®)
(i)  (afleawanad (b) VIO af)DHMVUHB (afladala flud
(D0allSlen®d)
(iii)  @aadaueiavo (c) eexaille Tlo@Ememo
(vaosdlaimo)
(iv)  eaomiglanad (d) @RYI® TLIVLIOHIG3 MIIMYo CaldaHeMo
(2@rLEo) auflaalaman).
() ©ONCHNIOHOMV
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6.  Write the asexual reproductive structures given in the diagrams (a), (b), (c) and (d).

(a) (b) (© (d)

7. PCR and ELISA are two molecular diagnostic techniques.
(a) How is PCR useful in molecular diagnosis ?

(b) What is the principle of ELISA ?

8. (a) Identify the type of ecological pyramid given below.

(b) Pyramid of energy is always upright. Why ?

9. Deforestation is a serious issue in the present scenario. Write any two major

consequences of deforestation.
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6. @oey @amlalemm all@engow (a), (b), (¢), (d) agMlaiiee GrRO6EIUIH:

(DR |IBM BINEIBUB aBO@AN af) 9)®).

(@) (b) (c) (d)

7.  PCR-90 ELISA-©@)o 061 (1M @@ czmocnm%ﬁeg;g@ mod}@mgom{
(@) PCR ag)smem®@osm @@ ¢ooNMIBENO@IIME DalE@on(IBROAM® ?

(b) ELISA-@)6S @®lo af)amoem ?

8. (a) oy ®aMIAlEe)M EHHISEIBNE alloalal aGe@aN @Idla)Glw)s.

(b) 29822 aflodllal 0o Ea o9l MIAIBIN@OE. af)IEODHTE ?

9. DD BHOLICLISTITNIOELI BO) (IWIM (YA AIMMUBlGOMo. AIMMUBlBHOIMOTIOG

a0 AME alGleMMaNLIBUB af)9)®)d>.
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10. Observe the flow chart given below :
(a) Name the processes represented as A and B.
(b) If ‘N, is the population density at time t, then write down the population density
equation at time t + 1.

11. The early stages of embryo development are similar in both dicots and monocots.
However, mature embryos have differences. Write two major differences between dicot
embryo and monocot embryo.

12. Given below is a flow chart showing the accumulation of DDT in different trophic
levels :

(a) Name the phenomenon.
(b) How does it affect bird population ?

13. Detritivores play a major role in decomposition.
(a) What are detritivores ?
(b) Write an example for a detritivore.

14. Double fertilization is a characteristic feature of angiosperms.

(a) Which are the events in double fertilization ?
(b) Name the triploid nucleus formed as a result of double fertilization.

SY 26 6



10. @069 @aMIAlEaM GaQo 21085 MIGldH @)D :
(@) A, B agyam av)a flaflafldlenam @1aid@mmemud aaman af) 9.
(b) ‘t’ WaWOHED Galdalicelaud MVIMB® ‘N’ GREMSBIG3 t + 1 Cvaeo™
LI(BD BHHENBATNAN TVAAIID Lo af)P)®)B>.

1. @8 QIgda]@es ®@YBICLISERUY  TLAIMANOIMEIL  o)3gNAISAs|pOOTI®
aR@nilRal(@ (mm(g@zsﬂa(rg} @emal), sflmil®Rai@ cn)m)‘gcmﬂmg (@emMal)
QIY®PAVO|SIBEH)IMN). DO GOAILNSS nBODEILIN OENE AIY®PAVEBUD af)§) @)

12. aflallw  @soadle,  elaensslad DDT  e@eslaomensian  dlall@osm  @oey
3062 flAlee) M@ :
(@) DY (IBGIRIMVo ABODAN af)P)YDD:.
(b)  D® ald:Hl AVDYOODD Af)sIBOM OO BRIV NIdUSlBMAN] ?

13. awEiglearnoydud alleeinsm@mI@s (@ IWom aleh)Qlaoleeam).
(a)  awEIdleann)dud af)amoeeIan ?
(b)  WEIFIca0)BUBE B0)BIAODEMo af)P)®).

14, anayl® avavienges avalleuaumosm ailenile: ausseimo.
(@) aflenilz cvseineileng ~e1geEBUd agal ?
(b) allnilz CVBLIM ADLINOWIENEIG)IM (SlEx 10V DGO CalHOPI®)D.
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Answer any 3 questions from 15 to 18. Each carries 3 scores. B3x3=9)

15. Recombinant DNA technology is a complex process which involves several steps.

Write down the major steps in recombinant DNA technology.

16. The discovery of Restriction Endonuclease is considered as “milestone” in the history

of genetic engineering.
(a) Which is the first discovered restriction endonuclease ?

(b) What are the criteria for naming of restriction endonuclease ?

17. Observe the diagram of young anther given below.
(a) Identify the parts labelled as A, B, C and D.

(b) Which layer nourishes the developing pollen grains ?

18. Outbreeding in animals may be outcrossing, crossbreeding and interspecific hybridisation.
(a) Give an example for a progeny obtained by interspecific hybridisation.

(b) How does outcrossing differs from crossbreeding ?
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15 ay®a@3 18 alwowas casyBglad ®wlmp ogeesslene 3 ajgnooilm’

2OMOOAY)M)h. 3 caMOA all@o. B3x3=9)

15. dleaomimagd” DNA quocs@lanilay woooge ~eISansas 30) mmﬂ@% (a1QIBEDM-

MI6M. EDBIOE! (21WIM ALISEBUD af) 91 .

16. 0oaUSlomd  a)BEWIMRAICVAV  OTVIUNIWIOS  GeMelallSiome  RTI®

a2 lafldlow) 2 1Bl @OBIOE! MIFDHEHLI0W] BHEMEHILIAM).
(a) @BV &emB)ailSla] OTVSISHB af)BEWI MYFIEVAV aB@®I6T ?

(b) DD EOMVINTIBHS)ONS MINBAMBTIMAICWIUIIGNAM AIMBEMWEIBUB aBQ ?

17. @269 @GN al@dUIIWIOS 2 fl(@o MIGIG:H] 00D
(@ A, B, C,D agarlemnem coaloa]s)omlilales)an @owoe @ildlajolw)s.

(b)  QAUIBOYAM aIEONEOEMENUBAS CGaldaHeMo MENAN BINO ARG ?

18. aywemgloal avgilaloy) @IS  B95e@oMlow),  E@omEnilaslow, eR@-

aTyTlabld; ©6a0ENOOAETVAU af)aVlAIOEM.

(@) BdOARMTafld  OOa0ENINOAWETVH  QIFl MBI B0} AVINTI B

9B0a006Mo af) ).

(b)  8Y5E@OMot) (AIBHIW E@OTVENIWLU@ MM af)eBBOm AIY®PIVeAS]-

alomam) ?
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PART -B

ZO0OLOGY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
Answer all questions from 1 to 3. Each carries 1 score. Bx1=3)

1.  Which among the following belongs to ex-situ conservation ?

Wildlife sanctuaries, Biosphere reserves, Zoological parks,

National parks, Sacred groves

2. The milk produced during the initial few days of lactation is called

3. Diagrammatic representation of the central dogma given below is not correct. Make

necessary corrections and redraw it.

Answer any 9 questions from 4 to 14. Each carries 2 scores. 9x2=18)

4.  Prepare a flow chart showing the evolution of modern man in the hierarchial order of

their evolution using the details given below :

Homo erectus, Homo habilis, Dryopithecus, Australopithecines,

Homo sapiens, Ramapithecus, Neanderthal man
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PART -B
ZOOLOGY

(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes

1 ;)®@8 3 2160W)HS af)E10 Ga10BIEBURBEP)0 QOMOSAYI®). 1 MDA all@o.

Bx1=3)
1. 269 ®mMIGElenMaII@3 ex-situ &HamaLAEAIaHMIG3 HalS)AMAT ol ?
Wildlife sanctuaries, Biosphere reserves, Zoological parks,
National parks, Sacred groves
2. meiogeilond @rey dlmenglad 2e]o6lafleanan aellom ag)amn’

@ROlea|S)aM).

3. ©9%99 ®aIGleeam ‘OaVaS@ CUWOVR’WIOS HOQIW 0 ICORIWIT G@RYNININOW

So)O®ENGHUd AI0)O] aflenglo QIO :

4 @3 14 A1e0WBS cal3yEBEled M) agomslels 9 afanomlm’ 2omo-

OA)®)Hh. 2 ¢apIAQ afl®o. 9 x2=18)
4. oY @mMIdleNI  alltBWEBUWB  DalcIWla AMaHy  alBlEMOACTHIOLI

MM (HACOF BRSITVLOOMTTIGE OBH GaQo 21085 WB20e9)D :

Homo erectus, Homo habilis, Dryopithecus, Australopithecines,

Homo sapiens, Ramapithecus, Neanderthal man
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5. Observe the figure given below :

(a) Identify the figure.
(b) How many histone molecules are present in the Histone core ?

(c) Distinguish Euchromatin and Heterochromatin.

6. Some examples of evolutionary structures are given below. Classify them under

suitable headings :

(a) Forelimb of Man, Cheetah, Whale, Bat.

(b) Wings of Butterfly, Bird.

(c) Thorns and tendrils of Bougainvillea and Cucurbita.
(d) Vertebrate hearts or brains.

(e) Eye of the Octopus and Mammals.

(f) Flippers of Penguins and Dolphins.

7.  “The sex of the baby is determined by the father and not by the mother.” Do you agree

with this statement ? Substantiate your answer.

8.  Find the odd one out. Justify your answer.

Down’s syndrome, Turner’s syndrome, Phenylketonuria, Klinefelter’s syndrome
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5. @269 @aldlenman all@o Mdle:a e :

(@) all@o @@l|0lW)>.
(b)  adleauoemd ¢30@ BINGID ag)(® aOlEAVIETD DO(@HUD @RSlWIS)ME ?

(€)  ©POEBIRIGIM]Io HAOQGEOIN(EHIA0FGIM)o ®ALNSH AlY® Vo GGl 0l)dD.

6. ®o6¢Y @ICENAN  MAILINHMA]  2LISM  ©BIANEMEBHS D llA0W

@EIOENG)HSI T3 @ VoGI BN :

(@)  2amauyad, allgapeil, @lalonelo, AIQJ@3 ad)IIAIWIEOS M)BEOD:.
(b) all@uoriEo, ald:Hl af)MIAUDIOS 2 l0)B03.

(c) ®SEIaURAIS], HAUSSA] af)MIAIWIOS MBBIo AUSSIW]o.

(d) MoSEN8s RAMGOBIOS 20300 @RLOAI MELIC|IA.

(e) dfleodl, rvaudi agarlalwies (B)GJH:))V.

(D ©a1dnilad, cawouBadlad ag)aTlAIWOS aFla|d.

7. “aponien efloe MIBINOIENM® all®oadsm, 20®IAIS.” D (IMOAIMEWIS

MR GO BHIMIEENED ? MLOWIBGBHN ).

8.  HHSOIGE BQO|SD® aB® ? DOMO AVIW)BHGIHS)D .

Down’s syndrome, Turner’s syndrome, Phenylketonuria, Klinefelter’s syndrome
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9. Observe the diagram given below showing the sectional view of the female

reproductive system and name the parts labelled ‘A’, ‘B’, ‘C’ & ‘D’.

10. Microbes are useful to human beings in diverse ways. If so, name the following :
(a) Microbe known as “Baker’s Yeast”.
(b) Lactic acid producing bacterium.
(c) Fungus which helps in the production of bio-active molecule — cyclosporine A.

(d) Symbiotic nitrogen fixing bacterium.

11. Complete the flow chart given below :
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9. ®o¢ ®@aldlaenm @] I®YG3aoBM AIYAINO & (@0 mldlasdlaf ‘A’, ‘B’, ‘C’ &

‘D’ @0UEIBB)OS Gald CORIA|S)IOI ).

10. avagy 2loleBd ampeuim aealally ®EOTIEE DalCWIW(EIBAEM.  G@REBOHM-

OB MIOY Al0WIIMNA AR

(@)  “emicanym DAY af)Glea|s)am av)ay edalil.

(b)  enadse arIilw orialddlaled)an mioeSIdlw.

() o  @RRlal  E@I@WIVW  HOAVEGZICARIOIB-A  2@3a]oBlaflesomd

V00BN aboWV.

(d) adloenicoslas ©eMEGSRB afldUlow) NIDGSIGIW.

11, ®oey ®aldlae)am ¢aQd 21083 al)@O1ldAle9)D> :
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12. A wide range of contraceptive methods are presently available. If so,

(a)
(b)

(©)

Name one contraceptive method having least side effect.

Which contraceptive method is generally adviced for females as a termination
method to prevent any more pregnancies ?

List out any two possible ill-effects of the usage of contraceptive methods.

13.  The causes of biodiversity loss are designated as “EVIL QUARTET”. Explain the Evil
Quartet in biodiversity loss.

14. List of some diseases commonly occurring in man are given below. Arrange them
based on causative organism in the table.

Malaria, Common cold, Filariasis, Typhoid, Ascariasis,

Ringworms, Amoebiasis, Pneumonia

Bacteria Fungus Virus Protozoan

Answer any 3 questions from 15 to 18. Each carries 3 scores. B3x3=9)

15. The amino acid composition of the relevant portion of B chain of two haemoglobin
molecules (A & B) are shown below :

(a)
(b)
(c)
(d)

SY 26

Which one of the polypeptide chain is abnormal ?
Name the disorder caused by it.
What is the reason for this abnormality ?

What is the effect of this abnormality in such individuals ?
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12, woag0 nde MEEIWm MOBYEBU3 DGR [0UB LIYAEM. af)Esl@3
(a)  al0Buol aDRIERUD GO0 K500 630} NAE WIEEIWM AOBYPTDNOHM CalOHVYI®)D.
(b)) @J&RBee NBWOVeMe TR B¥10I8HIM CAIMNEl DalERUTleHIANMM
ndE Mleeowm 20d8%o aB® ?

() wde MlEEOWm MVBNEBBOS DalCWOWOA)LIo  DENRIGHOAN  OFNE BaHy
anPIBBUY aBQI ?

gl

13.  eexal 0e0Iallwy MONADTIM $H00eM20H)AM “eDDAl@3 $108QQ ~ allvodlaclee)d .
14. @269 ®aMIGIEHNAN GRINEIHBHS COINIMBNBIOS G@RSITLOIMATHIG3 OAMIGIBAN
esenilgl@d allmavlee)s.

Malaria, Common cold, Filariasis, Typhoid, Ascariasis,
Ringworms, Amoebiasis, Pneumonia

Bacteria Fungus Virus Protozoan

15 m)@@3 18 awowas calosimngled @l ago@@lene 3 afamoila’
2OMOOAY)M)h. 3 ¢aMPoA all®o. B3x3=9)

15.  oeme adleaocyomilad @mo@aieel (A & B) enilg a10mled (@ITvsem conom 988

@RAIEGMI GRHYIVIAW TLEEWWIRMo IO GAVIGIBHN)M) :

(@)  aB® Caldgloalaigulal” VoYRILIYIEM GRAVOWIOEMo ?
(b)  ®MEIo PMEIBIAM HOAIBHLIYOTIOF CalOOID ?
(©) DY HOHAUBLITTNOA HOOEMo af)T® ?

(d) Y eeaIBLIYP MElo (ITV® QAIYBOIGSET3 DENBIGAN AIQo af)(D ?
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16. The diagrammatic representation of the DNA fingerprint from a crime scene and that of
a suspected persons are given below :

(a) What is your conclusion about the suspects based on DNA Fingerprint given ?
(b) Whatis VNTR ?
(c) Who developed this technique first ?

17. (a) Expand STDs.
(b) Cite any two examples for STD.
(¢) Suggest any two methods for the prevention of STDs.

18. The diagrammatic representation of a process in bacteria is given below :

(a) Identify the process.
(b) Name the enzyme involved in this process.

(c) Explain the three major steps in this process.
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16.  @)Qdy®p MSIN qUORIC AN} LIElaj®lo GH)QEOamOIW AIIGBIBRIOSW]o

DNA aflotn@ (2 103)383)0S co60all(@o 0¥ @avialasam; :

(2)

(b)
(c)

17. (a)
(b)
(c)

DNA aflond (Nadlom @RaUalBadas] &)Qocodalmen &»)ola)as dlangins
wlwameaam ?

VNTR agyomoseias ?

@RBMOW] D AVIEB@IH®HAlBY Alldmlaflajmon’ ?

STDs @9S al)@emajalo af)9)®)d.
STD &6 068 ©B0a006Mo af)9)®)d.
STDs ®s@)01008 ¢alene aBo@esleljo @me 2083 Ml@egudlan)d .

18.  cI0BHSIBlIBS @3 MSHNMM 0] (L I(GlWIOS GO f(Go @6 GANIGIENIM

(2)
(b)
(©)

SY 26

(B aBO®aN @@l ]ClR)>.
(IV® (GO T3 ©UBOAIG EONVIUVIWAS CalOVY)D)D.
(ITN® (VDS MAD (a1WOM 2LIgeBU3 Allaidles)d.
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Part — II1
MATHEMATICS (SCIENCE)

Maximum : 80 Scores

4 N

General Instructions to Candidates :
e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e (alculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e (Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

fl3§03n01d U393 B3 6)a12@)MIBCFI060B73 :
e Mdgley MO aj0oa 15 2lTlq ‘@)U 8200 ©6So” ©eMedXdlan)o.

e ‘9B Bla0 69So’ CaldBiEBUd al@lal®ea]|SOM) DTMAGBBUD  BRHYIVY@EMo
621Q)0M)o DalGRIUIHN)D.

*  DOMOGBUB af)PYEIM@IM MMI Cal0BIEIBUB UPBLIANBYJo AWIBPEMo.
o IBE30EBU3 MIQIMIo UYIRBLIABQo AIWBHEMo.

¢ HHEMAS H)GENDUWB, 2(@BUB, (Na0)B>URB, ag)amlal @mcocsugdcﬂaﬁ ©®6aM
MRVl E96Mo.

*  CalOBIEERUY ALIVOBTIEIL MElwlg)e.
*  @RAICDIMSBS TLOLIDTD TVAQUIDYEBUD IBHISIBNEMo.

*  CoWIMBDUB  62IQIMIBHITM  HOTIANCLIQODHUB  BYoHWIBT B0}
EDRIBESIEM D Raldb0eMAle alBldt0a00El@3 DalcOUlee)aIdd aldslg).

N )

SY 27 1 P.T.O.




Questions 1 to 7 carry 3 scores each. Answer any six questions. (6x3=18)

1. (a)
(b)
2. (a)
(b)
3 (a)
(b)
4. (a
(b)
5. (a)
SY 27

If f(xx) = sin x, g(x) = x; x € R; then find (fog) (x) 1

3+
Let u and v be two functions defined on R as u(x) = 2x — 3 and v(x) = Tx Prove

that u and v are inverse to each other. 2)
2 x 4

For the symmetric matrix A=| 5 3 8 | Find the values of x and y. 1)
4y 9

From Part(a), verify AA" and A + A’ are symmetric matrices. 2)

Find the slope of tangent line to the curve y = x> — 2x + 1. 1)

Find the equation of tangent to the above curve which is parallel to the line
2x—-y+9=0. 2)

Iff f(x) dx = log [tan x| + C. Find f(x). 1)

1
Eval tf—dx. 2
valuate m ()

Area bounded by the curve y = f(x) and the linesx =a,x =band thexaxis= (1)
b b

(1) f x dy (i1) f x? dy
a a
b b

(iii) f y dx (iv) f y? dx



1 2)®@38 7 2190083 ¢21083B03AH 3 ¢MRIAB allmacem. ago®eilene 6 aganposlm
DOMODDYY®) . (6x3=18)

1. (a)

(b)

2. (a)
(b)
3 (a)
(b)
4. (a)

(b)

SY 27

f(x) = sin x, g(x) = x%; x € R @Ry@o@3 (fog) (x) e NSlee)d. 6))

3+
U, vV af)avl 06N aBHB6o3Ud u(x) = 2x — 3, v(x) = Txé R agan Ml@Q)a loo6a]-

SIAlEeaM). U, V DA alATY®0 ENABEAUSTVIRHSIEMAN HOSIWIH6)d. 2)

2 x 4

A = {5 3 8} af)M 20ElHM B80) TGSl 2ESIHTV @RYWIT X, Y
4 vy 9

af)MlaIW)es alleldud &oemiam). @

21085 (a) Qleoel mElaavlad Mlanle AA’, A + A" agyariar miensles aosleay

@RYHEMAN HOSI I B9)B>. ?2)

y=x?—2x+ 1 af)am &30l603 0mOS)0I0WINS CN0a] @06M)d. @

MEE3 @Il HBale 6@05)010 2x —y + 9 = 0 ag)aI QIO MVATNE-

DOWI@3 HAIS)AUOWIAS TVAAUID Yo HETE)a 1S1HN)B>. )

J f(x) dx = log |tan x| + C @ry@om3 f(x) alleioamn ? 1)
1

J ﬁ dx agyam oBWeillead aller &0em)@. 2)
—ax

y = f(x) agyam &Bailmp, x = a, x = b, x-@ERZaV naiPisaienss cown@Ion]

alol@al’ = §))
b b
(1) f x dy (11) f x? dy
b b
(ii1) f y dx (iv) f y? dx
3 P.T.O.



(b) Find area of the shaded region using integration. 2)

(b)

The order of the differential equation formed by y = A sin x + B cos x + ¢, where

A and B are arbitrary constants is 1)
1 1 (i) 2
(iii)) 0 (iv) 3
Solve the differential equation sec?x tan y dx + sec?y tan x dy = 0 2)

7. A factory produces three items P, Q and R at two plants A and B. The number of items

produced and operating costs per hour is as follows :

Item produced per hour
Plant Operating cost
P Q R
A 20 15 25 % 1000
30 12 23 T 800

It is desired to produce atleast 500 items of type P, atleast 400 items of type Q and

atleast 300 items of type R per day.

(a) Is it a maximization case or a minimization case. Why ? 1
(b) Write the objective function and constraints. 2)
SY 27 4



(b) 2 @OPNGE CaHW 61a1Q)BB9AN IVADTNO al0a|BAT DWEWAHM Dalc@OUla]
BB 151065 2

6. (@ y=Asinx+ Bcosx+c, A, B agarial @pdmilsdl audlo quoal{a8)a0omd

LA o DENBIBMNAN WlaNOMBaH YB3 D> EAUHT 30BAWA ag)(@® ? @
(i 1 (i) 2
(iii) 0 (iv) 3
(b) sec’x tan y dx + sec?y tan x dy = 0 ag)aM UlaDOMBaHB3 EDBHPEAIHAB CIVOUBAT
a2 1Q) . 2

7. 80) andiadl A, B ag)arl oeme qloadidglad P, Q, R agavil 9ejmemud aildodilaiam).

DL|IMBBBIAS af)gINANe DEJOBM alleialo (80) 26Ml@)Ol@E) ahaies mavlalesmm :

26m1a9)01@a3 e06la flasyan o
aload’ ; 2EPTaf ONT DM 2LJOBM Galelal
P Q R
A 20 15 25 3 1000
B 30 12 23 T 800

2emileedlad @osom@ 500 P-agyam oejmalne 400 Q-agan oejamalp 300 R-agyam
oejmall 996a lenomas anogdlwes @Slo@omo.

(@) MO B0) MHTINOACATVaHNB EG2108i20eeMO AlMIOHOHNETVAHAT CaIOBYANICEMO ?

af)OOD06NE ? 1))

(b) Y a10B§EOBTNO BMIRPIOT aNWaHTD, HENBAVSVAFAV af)aTIQL af) 9)®). ?2)
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Questions 8 to 17 carry 4 scores each. Answer any eight. 8 x4=32)

8. (a) The function P is defined as “To each person on the earth is assigned a date of
birth”. Is this function one-one ? Give reason. (1)

(b) Consider the function f: [0, ﬂ —>R

given by f(x) = sin x and g: [0, ﬂ —>R

given by g(x) = cos x.

(i) Show that f and g are one-one functions.

(i) Is f+ gone-one ? Why ? 2)
(c) The number of one-one functions from a set containing 2 elements to a set
containing 3 elements is 1)
1 2 (1) 3
(iii)) 6 (iv) 8
0. 1t A = sin! 2= . B = cos! 5 € = fan! tisfies the conditi
. =sin 750 B =cost 775, C = tanm 75 satisfies the condition
3A — 4B +2C = 3- Find the value of x. 4)
10. (a) Write the function whose graph is shown below. 1)
(b) Discuss the continuity of the function obtained in part (a). 2)
(c) Discuss the differentiability of the function obtained in part (a). 1
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8 @@ 17 2160} 21033530336 4 ¢aPId all®acem. ago®aslels 8 agamomlm
DOMODDYY®) . 8 x4=32)
8. (a) P ag)im anotiat(B 21)016)S GalBoIBlesn)mm Alall@d aildq)alafl@leaan).

“epidien! 80600 aMHIBN)P B0) RMMOTVIVG] MEelea|gldlanm).” v

aNoaHUB 630} AUMB-QIENS aNoUAHMOIEEMI ? GHIVEMo )LL) 1)
b) f: [o, ﬂ SR @ f(x) = sin x o g : [o, ﬂ SR @ gx) = coS X agmm)o
@Q}a looea|Sldlanam).

(i) £, g enal aIeNd-al1end aNoUaHMIBEMAN OISV BO)B>.
(ii) f+ g 830} AIeN3-QIeN3 afoWIaHMOECEHMO ? ag)aEOBHNE ? ?2)

(©) 2 @RoVEMRBA B0} VMA@ MM 3 ERCWITBBB B0} VEMTTTIICLIY B

QI6M-QINB A CoUIaHMBBIOS af)elDo )
i 2 (i) 3
(ii)) 6 (iv) 8
2x 1-x2 2x T
— cin] ~ oo — o _I
9. A=sin" 5B =cos ! T2 C=tan ! 2 cOmla13A —4B +2C =3 agam

TLACNGOTIGE AVOGITVENAD HaIQIElENIN). OV TVOa0aIoETIENSs x-603 aflel

HOM)d>. “4)
10. (a) a2nales @aIElEOM an AV)a laléeIIN aNUIHB Af) YD) 1)
(b)  «10d5(a) DeL1 afoWeHOM HENEIMRANG al@lcuooUwlne)d. 2)
(c) a10d5(a) @eLl afoated AWlanomBauimieilgl a1dlecuoulee)d. 1)
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11. A cuboid with a square base and given volume ‘V’ is shown in the figure.

(a) Express the surface area ‘s’ as a function of x. 1
(b) Show that the surface area is minimum when it is a cube. 3)
12. (a) If2x+4=A(2x+3)+B, find A and B. 1)
) 2x +4
(b) Using part (a) evaluate f 2+ 3ps O A3
) . . . , dy .
13.  Consider the differential equation cos“x g Ty =tanx. Find
(a) its degree 1)
(b) the integrating factor (1)
(c) the general solution. 2)
AN AN A AN A
14. The position vectors of three points A, B, C are given to be i + 3j + 3k, 41 + 4k and
NN N :
—21 +4j + 2k respectively.
o —
(a) Find AB and AC. 1
. —> —
(b) Find the angle between AB and AC. 1
. . . . % % . .
(c) Find a vector which is perpendicular to both AB and AC having magnitude
9 units. ?2)
15. (a) If z_f, l_): ¢ are coplanar vectors, write the vector perpendicular to a. 1
(b) If z_f, l_): ¢ are coplanar, prove that a+ l_): b+ E), C+a are coplanar. 3)
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11.

12.

13.

14.

15.

2 l@OTNGE TV I)EIIGIVIES CNITVISS B0} 21G)0O|FWOS QIPglo “V’ @M.

(a) DYV 6aISWOS DaITDEITNOR al0a]8al ‘S’ OM x-613 alB6mEE3 AV)a lla loe)w:.

(b) DY 21®)EO|F] B0} HYNT BRYBIEMINPIET DalTDLIGTNOG ol |SOT a0

B30T af)IM OS] H6).

(@) 2x+4=A(2x+3)+B ewoadA, B eal &06m)d.

2x+4
(b) 1033 (a) Wler! @YUV DalEIUIla] f b = dx @06m)d>.

2+3x+1

d
cos?x ExX + y = tan x af)n@ WlaNOMBaH{@3 TLAQIOB: o @RY6I.

(@)  (EII® VaaRG EBO3 WU ag)@ ?
(b)  DBeWGlow) aNIRHAB M.
(0 @midlemmm  AUWlan0MBaHi@  ALAARBIEDIOW  BMOG  HAVILIYAHS

>6)eNSO10) ).

A, B, C ag)avil cmilm)008)6S 61a10alanad am@og@a@ QLNI (Ao ? + 3? + 31A<, 4? + 41A<,

AN N A
21 +4j + 2k agyamilaicosm.
- — y
(@) AB, AC onaigiisailenss ¢06m1e003 GRSOT &HaMENDN)H:.
- — y
(b) AB, AC onaigiisailenss e06m1e03 GRSOT &HaMENHN)H:.

- -
() AB, AC agyamlaiQ) LloMIAdQ®)e 20NMIQRAL 9 @Nlq” O8REAIW 61

6N8)a {15196,

H
a

ol

(2)

(b) @, b, ¢ DA EGHICa]MIB HAILHOIDHBOOENEI@I, a + B, b+ S, ¢+a enal

2

1

CHICIMIN)BBIOEMAN HOHE W59

0y

©))

1)

©))

0y
0y

2

0y
0y

2

, c DO CHOCaJMOB OAIBHSOYHBIWOTS a ©' LIoENINOW HAIRA af)9)@)d. (1)

©))
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16.

17.

18.

19.

(a) Write all the direction cosines of x-axis. 1

(b) If a line makes angles a, B,y with x, y, z axes respectively, then prove that
sin? o + sin? B + sin? y = 2. Q?)

(c) If a line makes equal angles with the three co-ordinate axes, find the direction

cosines of the lines. 1)

The activities of a factory are given in the following table :

Departments
Items
Cutting Mixing | Packing | Profit per unit
A 1 3 1 %5
B 4 1 1 T8
Maximum time available 24 21 9

Solve the linear programming problem graphically and find the maximum profit subject

to the above constraints. 4)

Questions from 18 to 24 carry 6 scores each. Answer any five. 5 x6=30)
31 5 4 -1

IfA= 1 2 | Show that A= —5A + 71=0. Hence find A* and A~". (6)

2 -3 5
IfA=| 3 2 —4 | then

1 1 =2
(a) Find A1, 3)
(b) Use A~! from part (a) solve the system of equations 3)

2x—3y+5z=11
3x+2y—-4z=-5

x+ty-2z=-3
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16.

17.

18.

19.

(a) x-axis O3 ag)LJ0 WROBHHM HDHOOOTVMIDB)o af) ). 1)
(b) &0) eIl MMM @RYBIVINV)GSINOWV] o, B, ¥ af)aT] G306 )®HS)MBIGN)AN)-

oaIBRl@3 sin’o + sin’P + sin?y = 2 ag)an 6O B8 ?)
() &0) 66LI08 MM @RYGIVITVIGSIAIWV] YEIY BHOMIBHUB DENBIBHNANIOAESIT3

@R HEOLIMIHZ WO BBIONTVABAV BHI6M)>. 1)

830) a00HAIVOL! (1AIBOMEBUDB 21)0IeS eSMISIG3 CaldOalae)am; :

aileowsnud
EDMGIBUD - - - .
»HSlow) 2lBaw) | ad@low) | £1080/ejaMs
A 1 3 1 %5
B 4 1 1 38
ale200IW] £1€ {0V TVAW 24 21 9

omiladlemm  ellmled  caowonlow G(al06Q]o (P0aN)n1cOUile] MIBELOVEMo
©a1gd. @IAlENI  HeMBAVHSVIGIM) allcwaowigss aloadaldll eleo
HEMENILN . “)

18 2y®@8 24 QIPOWBS Gal0BYEIBWAY 6 capod alleaan. agomsrlen. 5

af)EANOTNM 2OMODAGY®)d>. 5x6=30)

31
A= [ 1 2 } @R@o@3 A2 — 5A + 71 =0 af)in o®&Ela9)d. D@IE8 Mlanye A, A~

EDQI HOGN)>. (6

2 3 5
Az{ 3 2 -4 }@@@0@8
1 1 =2
(a) A @oem)s. 3)
(b) 1033 (a) V@3 e1dla] A DalcoUdla anains GAVIGENAM AVAQIIDEEBUD
CaVOUBAT a1 3)
2x—-3y+5z=11
3x+2y—-4z=-5
x+y—2z=-3
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20.

21.

22.

d
Find Exx for the following :

(a) sin’x + cos?y = 1.
(b) y=x*

(c) x=a(t—sint)y=a(l +cost)

Evaluate the following integrals :

/2

sin x
(a) f sinx+cosxdx

0

sin’x dx

(b)

Rl —— 1a

(©) f x sin 3x dx

(a) Find the area bounded by the curve y = sin x and the lines x = 0, x = 2w, and

X axis.

(b) Two fences are made in a grass field as shown in the figure. A cow is tied at the

point O with a rope of length 3 m.

(i)  Using integration, find the maximum area of grass that cow can graze within

the fences. Choose O as origin.

(i) If there is no fences find the maximum area of grass that cow can graze ?

SY 27
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d
20. 210165 Ga1@GIGlEe)MNAIWI @3 ExX BOM> :

(a) sinx+cos?y =1 Q?)
(b) y=x' 2
(c) x=a(t—sint), y=a(l +cost) 2)

21.  ana1es eal1BomIdlenmm HABU@Uleng aler &oem)e, :

/2

sin x + cos x
0

;; ST

(b) sin’x dx 6))

|
a

(©) J x sin 3x dx Q?)

22. (a) y=sinxag)am &Ballmi, x =0, x =21 ag)afl Al0HBE9AISle )8 0UNGBIN3
al0a |8l GHOEM)D. 1))

(b) oo anenss 30y a1leldd @O H0eMlaldlenM@)Ealonr! o6ne

calellad asglaldleman). ‘O’agyam milm3)allad 3 m aflsmss 80) &»wad

9alcoUila] 80} alva)allom awd:slaldlenan).

(i) v allm o caILld:WBeMssIad MMM alEDAUW] af)(@
al0a|80fl@3 alje] @AM ag)aIN NMWEWNHT DalCWIUTla] Bene)a ISIee)d.
‘O’ B8012IMOW ag)S)00)d>. “)

(i) v calelaBd LIBT3 ald)AlM af)(@2(@o alPa]|80ll@d anel @lande
af)am &H6eN&)a lSlee)ss ? 1)
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23. (a)

(b)

(©)

24. (a)

(b)

SY 27

Find the equation of the plane through the intersection of the planes

3x—y+2z—4=0and x +y+z—2 =0 and the point (2, 2, 1). 2)
. . . ) x+1 y+1 z+1
The Cartesian equation of two lines are given by 7 =6 T and
-3 -5 z-7
2 ' y_2 _z B Write the vector equation of these two lines. 2)
Find the shortest distance between the lines mentioned in part (b). 2)

A bag contains 4 red and 4 black balls. Another bag contains 2 red and 6 black
balls. One of the two bags is selected at random and a ball is drawn from the bag
and which is found to be red. Find the probability that the ball is drawn from the
first bag. A3

A random variable X has the following distribution function :

X 0 1 2 3 4

P(x) |k |3k |5k |7k |4k

(1) Find k. @

(i1)) Find the mean and the variance of the random variable x. 2)

14



23. (a)

(b)

(c)

24. (a)

(b)

SY 27

3x-y+2z-4=0,x+y+z-2=0 af)a7 ®EIGBB)OS TVoNADTH @3 *)SIW)o
(2, 2, 1) agam nilm3)alled &)Sljo HSANEAIISH)IM @EITDIOHG AVLAQID o
SNR) NS156)5. 2
Q6NB) AUODHSBOS HIBGlaHT AVAAUIID Yo 21)016S GATIBlEeMM] )

x+1 y+1 z+1 x-3 y-5 z-7
7 -6 1 1 =2 1

EDOIWIOS HAIGRA AVAAIID: o af)$Y)b.

Part (b)-@leel ome) a10a8)0 ®alenNss agqaljo h)06HIm B)0o dbeNg)allSland. (2)

830} nOUA@3 4 al)lallo 4 BH0Jallo al0NHUB DENE. AOQOD) NIOUA@3 2 al)la]lo
6 B0)a|lo alI)HUD DENE. ETE) NIONIHFEIE3 MaN)o 630 NIOY) I @YX
ODOHETNS)TNGIMICUIaHo @) TUIUTIG3 MIMYo BO) Al af)S)ANAN). DD
ol &0) al)Qla]) olMIOMMBIGE @Y ol  SOAMOVOdD  MIOUIE3

WaM20HOM)BS Clatosmienilellgl »emaenda)d. (&)

X ag)am 830} 0omawe caldlemiglond cwlomienieild aslavslenigeuad »ales

6RH0S) MBI HNAM] :
X 0 1 2 3 4
P(x) k 3k 5k 7k 4k
(1) k &0osmd. 1)
(i)  x agam 00mBaWwo caldlwenilglond alad, calClBaV Al GHoem)d. ?2)
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HOME SCIENCE
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® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® Electronic devices except non-programmable calculators are not allowed in the

3 §08018, 03953 B3 ) 12@))MIBCFI060B73 :

Examination Hall.

Mddley MLA@OTIM ajoea 15 2AlMlg” ‘@08 Boa0 ©6Se” DeNoElEe]o.

‘@B Boah OOSO’ GaldBYEIBUWE  al@lal@Wea|SOM) DTMOBUB  GRYAVY®EMo
6210M)o DalCGWIUTBN)D.

DONOGIBUB af)$)INGIM D)MNI €2 10BYEBUB UYBLIANBQ o AIOWSBHEMo.
TBE3U0EBU3 MHIAIM)o UIBLIABQo AIOWBHEMo.

BOMNAS D)GENDUPB, al(@BUB, (aD)®HUB, af)amlal @mo@maﬂcﬂm @M
96ne0olasemo.

Ga10BEBUY MRIVOgOIeNe Mellaig)me.
@RYQUUDIMBS TLOLIBIT TVANIIDETBUD B13IS)BNEMo.

CIDWOMBHUB  62IQIMOIBHITM  HOTCIINCLIGQO)DBUD  BYOD>OBB  630)
EDRIGESIEM] D Daldh0eMAle al@ld0a0dEI@3 DalcIWle9AI0Ns aldSlg).

SY 28

1 P.T.O.



PART - A

Answer all questions from 1 to 12. Each carries 1 score, except question number

10 which carries 2 scores. (11x1+2=13)
1.  One gram of fat supplies kCal energy.
2. Gray coloured spots in triangular shapes are located in the conjunctiva during vitamin

A deficiency. This is called
(a) Bitots Spots (b) Phrynoderma
(c) Dementia (d) Cretinism

3. The normal iron requirement of an adult woman is
(a) 35 mg/day (b) 21 mg/day
(c) 1200 mg/day (d) 600 mg/day

4.  Name the method in which a temperature below 100 °C is employed for the

preservation of food.

5. From the following identify synthetic fibre :
(a) Rayon (b) Nylon
(c) Silk (d) Linen

6. Name the oldest method of fabric construction.

7. ldentify the fabric finishing which is also known as pre-shrinkage.

8.  Different stages of dyeing are given below. Find the missing one.
(a) Solution dyeing (b) Stock dyeing
(c) Yarn dyeing (d) Product dyeing

9.  Choose the incorrect statement related to formal education.
(a) Authority rests with the teacher.
(b) Class attendance is compulsory.
(c) Teaching is mainly rigid.

(d) It has no fixed curriculum or course of study.

SY 28 2



alo@g — af)
1 2)®@8 12 0160W)BG af)Lld CalIBIEBUIEN)e DOMOOAYI®)H. 1 capod alleo,
Gal03o 10-m" 2 Gapon)o. 11 x1+2=13)

80} (N0 OBO9)a| &l. 50101 9VdRR0 MEHAM).

aflgalad ‘ag)’ @S @RaIOPEI® O8BEa|oUB conjunctiva-@l@d 100 0loooilos
(GNEHOMIBIGIN VI LNSBH )TN BHUB H6Ma]S)M). H@IOm allgleean @
() ©eMIEgISaV EIyOg (b) e&@nemocaAR

(c) aleamdaHlw (d) ewglmlave

(10@a)BOTIWOW B0} (WIWHS TV]0EA[GHA0W HO)M O3 @RHAIVDDH®
(a) 35 mg/day (b) 21 mg/day
(c) 1200 mg/day (d) 600 mg/day

@RYaNIo GHS)H)SIO® AVIGHBHOM 100 °C @3 @069 ®IalMIE! DalcIUTlenaM
A GNWOS CalOVNY®)D.

©926¢ ®MMIBlanmMAI@3 Mmlan)e synthetic M@ @@12 0l :
(a) ocwoend (b) eemeeIoed
(c) avl@das (d) elmad

QI M@20eMBTIOL! aBGQAN0 al)EIBM BlTIWIOS CalOOI®)D.
Pre-shrinkage ag)am @odl@ea|siam fabric finishing ago@an @ld@lajolw)s.

aflallw oo HeWDlow) BlBIBHU3 e MANIGIENMM). Al5)EA VD) BHENRTIN)D:.
(a) Solution dyeing (b) Stock dyeing
(c) Yarn dyeing (d) Product dyeing

Formal education-m)a0fl sninumsss CEIejoo (aIMQlm aR® ?
(@) @RUWIBGHO00 @ADL VA IGMI@S Mlalglndem.

(b) OB 0002238 W@enITWRdEM.

() @RELYYAIMO (AIWOIMAIW]o KHYW IO WIBBEIE.

(d) @M MEIEAIW 2120} alRLGIEWI alOM (Al (G IWEWI gne].
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Complete the illustration :

Write one disease condition for which high protein diet is prescribed.

Give the odour of wool while burning.

PART -B
Answer any 7 questions from 13 to 21. Each carries 2 scores.

Write any two symptoms of Marasmus.

Classity food based on its keeping quality.
Polyester is not suitable for summer. Give reason.
What do you mean by De-sizing ?

Analyse the advantages of bleaching.

Home Science is a multi-disciplinary discipline. Justify the statement.

Find the odd one and give reason :

Spot, Swivel, Lappet, Dobby
List any four causes of food spoilage.

Summarize canning.

SY 28 4
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

2 1(@306mMo a )BTV WIBN)H : ?2)

High protein diet 13¢3UdlEHQ1MN aBO®@ELILN0 B0) COINIAITVN af)LIEND.

SHOMEMINGB Wo0l-608 DAMWo af) HADOANY)®).

a10@dg — enil
13 m@@3 21 2100WIBS 21033 «BO@BHILNC 7 AfANOTIM DODOHALYD)H>.
2 capod all@o. (7x2=14)
2E0TVAAVIOHNG aBO@BILI0 QN LIGHEMEBUB af)$I®)D.

@1RY2NIOTHIOHM @R@Iong a)GHla NBHorI0IWIOS @RSIMOIM@TIN @3
QIO FTNEs

Polyester-caImn@3a90LIom) GRMECWOLIIAL]. $006Mo GO
De-sizing ag)an®)0@06Ne MIBRUB af)MmI6MA@OA0HNMN@) ?
Bleaching-6/03 (16@022memu3 al@lcuooWlon)d.

Ga0lo ALV af)aMIGS HHAUANWNOW ANLENOM YOORIWIEM. DD (A ITROIM
ALOWYBBBN)D>.

GAUOIS® HOENBATHI BH0D6Mo RSB :
Spot, Swivel, Lappet, Dobby

Food spoilage-68 agoa@len. moei” 006menyd alSld:ea |S)om)d.

‘Canning’ ag)a»oe)emam a))as) afllQiclee)s.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

PART -C
Answer any 7 questions from 22 to 30. Each carries 3 scores. (7x3=21)

Analyse the effects of thiamine deficiency.

Outline the principles of cooking.

Discuss the importance of meal planning.

Enumerate types of fever.

Explain the three important aspects of yarn twist.

Compare knitting with weaving.

Evaluate the characteristics of woven fabrics.

The latest advance in textile printing is the introduction of digital printing. Justify.

Examine the three most effective audio-visual aids in Dale’s cone of experience.

PART -D
Answer any 2 questions from 31 to 33. Each carries 6 scores. 2x6=12)

Elaborate the deficiency diseases and functions (any three) of calcium.

Critically evaluate the bacteriostatic methods of food preservation.

Describe the physical and chemical properties of cotton fibre.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

al0dg — ol
22 m®@3 30 A1OeWBS ¢a1034BSIA8 aBo®EBIENe 7 afAROTIM  DOMOOAY®)d.
3 capod all@o. (7x3=21)

@A @R IO DWIAS aNLIEBUD o IBICUIW] DD .

2102 1HODNOG D@IIBUB 2 1)} af) 9.

UMM (DA BRHAVY®EMODINAG (2 10UWIM Yo 21@a] 2l

aflaIw®oo alMO@aN)0la] allQIGlee)s.

Yarn-twist-ea3 2)am («1wom @elsndd allaidles)s.

Knitting, weaving ag)arilal @o0@a o 6a1Q))d.

OMWH@S)YTID AUTVEBSIOS V@I MVANENHUEHRUB alleIR0)a1)w.

Textile printing-008 agQARe aN@I® aNEEIN®] oan®  digital printing-6a3
GSMNIQUOAIEM. TVOWIBHANHN B>

Dale’s cone of experience-@3 aBQalo aDLIEIBAID MAN BYUDY UIOCAIPAINUWIHOS
M5

a10dg — al
31 a8 33 A10WBS G21033BEIG3 aBO@BILNS 2 af)FANAIM DOV D)>.
6 capod all@o. 2x6=12)

SOCVIOTIO @ValdPaI®O EEOVEBB WAMEBE)e (cBO®ElENe 2OANEN-)
QilvoBRHN ).

@QYatdo  EHSYHSO®  AV)GHISHOM  DaIEIUIIBNA  MIdBGSIGlcOqVIGla
20@eoud Qlladumocada0w] afleiRlo)a)w.

G056M3 MIM)B»B)6S physical, chemical properties allaIGlee)d.
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